Solution of the day/ September - 16, 2019
6" Class

Mathematics: Ans : (A)

x=10x+1]+2-[104 1]+ 2 198,10 101
X) X 10) 10 10 1 1

Physics: Ans: (C)
Chemistry: Ans: (A)
Biology: Ans: (C)

7" Class

Mathematics : Ans : (C)

a+b+c=0=a’+b?+c?=-2@b+bc+ca)
= k(az—bc)z—Zab—Zbc—an

= ka? —kbc = —2a(b + c)- 2abc
= ka® -kbc =2a” -2bc = k =2
Physics: Ans: (C)
Chemistry: Ans: (C)
Biology: Ans: (A)

8" class

Mathematics: Ans: (B)

12+22+43%+........ +12% =650
:»4(12+22+32+ ........ +122)=650><4
—=224+4%16%+........ +24% = 2600

Physics: Ans : (D)

Chemistry: Ans: (C)
Biology: Ans: (A)
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o™ Class

Mathematics : Ans : (C)

The given coordinates are vertices of right triangle

Orthocenter = Right angle vertex = (1, 2)
Physics: Ans : (A)
Chemistry: Ans: (C)

Biology: Ans: (A)
10" class

Mathematics: Ans : (B)

sin®+cosecH =2

sin® +

1 ] . ]
— _=2=5sin°0-2sin°0+1=0 = sin6=1
sin®

Thus, sin'® 6 + cosec'®0=1+1=2
Physics: Ans: (B)

Chemistry: Ans: (A)

Biology: Ans: (B)

Reasoning : Ans: (A)



